6 - Trig Identities HWK #8.5.notebook January 26, 2017

Adv. Ale.-Trie. oy .
e 25 HW: Finish Ditto Il Test Monday

e _ 1 . 1
1) tanvcosy = .1 2) smvcoty = v 3) sinfsecd =
i ese sinX cosx o cott
sinx .cosx sinx g COSX
cosx 1 SinX
. smx. 1 tanx
sinx 1 "cosx
sinx sinx
COSX COSX
cot x
4) cosx = cscx
CECX 5) cotx = ——
secy
cOSX 1
sinx _
COsX sinx
Sinx sinx 1
COSX
A cotx
cosX Sinx "\\




6 - Trig Identities HWK #8.5.notebook January 26, 2017

6) =X = cotx - SINXCECX _ txc
tanx COSX 7) ok =  cotx
1 cOSX
COSX sinx
sinx COSX 1 4
cosx ! fanx fanx
1 1
Sinx Sinx
]
f{) tanx _ CO=X 0 SINXCSCXY — Secx
4 secx cotx COSX
1 1
sinx coSX COosx COSX
COSX 1
1 COSX
COSX sinx
sinx sinx
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@ 04 gn A Ditto 11l
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2. M = 1+csc A

sin A4
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3. Sm—A_l = tan A - sec A
cos 4
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4. 1-sinBcosBtan B=cos* B
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1+secx _
B, — = sinx+tan x
CSC X
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sin X
6. — —— + cot x = ¢csc X
1+ cosx
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cot? x 1+sin x
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sin & + cos @)
L _

sin &

csc O+ 2cos B
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HW: Ditto 3
Test on Tuesday!!
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